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I вариант. II вариант.
f ( x) f΄ ( x) f ( x) f΄ ( x)

0,2х2 + 5 х - 47 -1,5 х2 -4х+0,125
х – 5- х х – 4+х2

(х-2)(х2+8) (3-х)(х3 - 9)
х (х2+1  ) х2(2 х -1)
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 (x)  (x)  (x)+   (x)
x t  (x)/   (x)

5,6 tg x ∙ctg x ∙ х-2
sin 6


∙х2- tg   ∙ 

х10

100 2+ +1 0,2 2+3 -5
Проверочная работа по теме: «Правила вычисления производных».

                                            Ответы для проверки.

I вариант. II вариант.
f ( x) f΄ ( x) f ( x) f΄ ( x)

0,2х2 + 5 х - 47 0,4х+5 -1,5 х2 -4х+0,125 -3х-4
х – 5- х -5 х – 6-1 х – 4+х2 -4х – 5+2х

(х-2)(х2+8) 3х2-4 х +8 (3-х)(х3 - 9) -4х3+9х2+9
х (х2+1  ) (5х2+1)/2 х х2(2 х -1) 5х х -2х
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x t t∙x t-1  (x)/   (x) ( ΄∙ - ∙ ΄)/
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5,6 tg x ∙ctg x ∙ х-2 -11,2∙ х-3
sin 6


∙х2-tg  ∙ х10 х

100 2+ +1 0 0,2 2+3 -5 0
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